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Maxima and Minima 18.1 Q1
flx)= Ay S geds OHIR

=4x? 4w +1+3

= (2x - 1% +3
(2x - 1% 2 0
=  [(2x-1%+323

= fl{xjéf{%}
1

Thus, the minimum wvalue of £ (x] is 3 atx = 5

Since, {(x) can be made as large as we please. Therefore maximum value does not
exist :

Maxima and Minima 18.1 Q2
* The given function is fx) =— (x — 1} + 2

It can be observed that (x — 1) = 0 for everv x € R.
Therefore, fx) =—(x— 1+ 2 <2 forevaryx€R.
The maximum value of fis attained when (x — 1) =0.
E—1D=0=>x=F
~Maximum value of f=A1)=—(1 -1+ 2 =7
Hence, function f does not have a minimum value.

Maxima and Minima 18.1 Q3
Fx)=|+2| ong
e +2|z 0 for x e R
= flx)z0forallxenr
So, the minimum value of f(xj is 0, which attains atx = -2

Clearly, f(xj = |X + 2| does not have the maximum value,

Maxima and Minima 18.1 Q4

h(x) =sin2x + 3
Welknowthat— 1 <sin 2x = 1.
=>—1+5=sin2x+5=<1+3
=d<gin2x+5=8

Hence, the maximum and minimum values of /1 are 6 and 4 respectivelv.

Maxima and Minima 18.1 Q5



Ax) =lsindx+3|
Welnow that—1 <sin 4x < 1.
=2=sndx+3=4

=2 <lsindx+3

=4

Hence, the maximum and minimum values of fare 4 and 2 respectively.

Maxima and Minima 18.1 Q6
f[xj =2x*+5 on &
Here, we observe that the values fo(xj increase when the values of » are

increased and £{x) can be made as large as possible,we please.

So, f(x) does not have the maximum value,

Similarly £ (x) can be made as small as we please by giving smaller values to x,

So, f(») does not have the minimum value.

Maxima and Minima 18.1 Q7

glx)=—|x+1|+3
Welmow that — x+ 1} <0 forevery x€ R.
Therefore, gix) = —|x + E| +3=3 forevervx ER.

The maximum wvalue of gis attained when|x + 1| =0 -

x+1=0
= x=-1
~Maximum value of g =g{—1) = —|-1+1|+3=3

Hence, function g does not have a minimum value.

Maxima and Minima 18.1 Q8



fx)=16x" - 16x +28 on R
16x% - 16X + 4 + 24

= (4x -2)% + 24
Mo,
|I4X—2:|2:_“|:| far all » R
=  (4x-2)°+24224 for all x e R
=

= Fix) f[é]
1

Thus, the minimum value of £ (x) is 24 atx = 5

Since f(x) can be made as large as possible by giving difference values to x.

Thus, maximum wvalues does not exist,
Maxima and Minima 18.1 Q9
;F[xj=x3—1|:|r‘|R

Here, we obhserve that the values of f(xj increases when the values of x are

increased and £{x) can be made as large as we please by giving large values to .

So, f(x) does not have the maximum value,

Similarly, # [x) can be made as small as we please by giving smaller values to x,

So, f(x) does not have the minimum value,





